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; 100kN/MZ#B% % - -~ - -|3mEHEZD -~ - - -| 100kN/mM%# 2z % - -~ - -|3mERZ S -~ - - -
Zzh st 1.00 1 000 ~ 491 61.17 | TnLS 000 ~ 491|212 10.72 Zzh st 1.0015.00 ~ 6.74 6117 | ThLS |600 ~ 6.74 212 10.72
2 100kN/MZ#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# %% - -~ - -|3mERZ S -~ - - -
Zzh st 1.00 1 000 ~ 505 62.90 | =S 000 ~ 505|219 11.05 Zzh st 1.00 | 5.00 ~ 759 6290 | TnLUS | 600 ~ 769|219 11.05
3 100kN/MZ#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# %% - -~ - -|3mERZ S -~ - - -
Zzh st 1.00 |1 000 ~ 461 5743 | =nLs 000 ~ 461|227 11.50 Zzh st 1.0015.00 ~ 761 5743 | =nLs | 500 ~ 7611227 11.50
p 100kN/MZ#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%# 2% - -~ - -|3mERZ S -~ - - -
Zzh st 1.00 000 ~ 617 77.41 | ThLS | 000 ~ 617|192 9.70 Zzh st 1.00 | 5.00 ~ 759 7741 | ThLUS | 600 ~ 769 1.92 9.70
5 100kN/m#%#BZ5| 1.00| 000 ~ 094 11415 |3Im&EEZS -~ - - -| 100kN/m%E#BZ25 | 1.00 | 10.77 ~ 1356| 11415 |3m%E#BZ5 -~ - - -
Zzh st 1001094 ~ 873 100.00 | =5 | 000 ~ 873] 2.30 11.62 zhnLst 1.00 | 56.00 ~ 1077 100.00 | =N | 5.00 ~ 1356 | 2.30 11.62
6 100kN/m#%#BZ5| 1.00| 000 ~ 032 10475 |3Im&EEZS -~ - - -| 100kN/m%E#BZ25 | 1.00 | 1466 ~ 1595 104.75 |3mE#BZL5 -~ - - -
Zzh st 1001032 ~ 811 100.00 | =5 | 000 ~ 811290 14.64 Zzh st 1.00 | 5.00 ~ 1466 100.00 | =N | 5.00 ~ 1595 | 2.90 14.64
- 100kN/mMZ#BZ5| 100000 ~ 140 12129 |3mZEiBZ3 -~ - - -] 100kN/mixE#82% | 1.00 | 1128 ~ 1597\ 121.29 |3m%EiEZ% -~ - - -
Zzh st 1.00| 140 ~ 9.19 100.00 | #ns | 000 ~ 9.19| 2.60 13.13 Zzh st 1.00|5.00 ~ 1128 100.00 | #nS | 5.00 ~ 1597 2.60 13.13
P 100kN/m#%#BZ5| 1.00| 000 ~ 106| 11594 |3Im&EEZS -~ - - -| 100kN/mMi%# 25 | 1.00 | 1053 ~ 1381 115.94 |3m%i#BA5 -~ - - -
Zzh st 1.00 | 1.06 ~ 884 100.00 | #nS | 000 ~ 884|217 10.98 Zzh st 1.00 | 5.00 ~ 1053 100.00 | =N | 5.00 ~ 1381|217 10.98
9 100kN/m#%#BZ5| 1.00| 000 ~ 105 11574 |3m&EEZS -~ - - -| 100kN/m%E#BZ25 | 1.00 | 1053 ~ 1375 11574 |3m&E#BZ5 -~ - - -
Zzh st 1.00| 1.05 ~ 883 100.00 | =S5t | 000 ~ 883218 11.00 Zzh st 1.00 | 5.00 ~ 1053 100.00 | =N | 5.00 ~ 1375|218 11.00
10 100kN/m#%#BZ%| 100|000 ~ 080 11191 |3Im&EEZ3 -~ - - -| 100kN/m%#B25| 1.00 | 10.72 ~ 1326 11191 |3m%E#BZ5 -~ - - -
Zzh st 1.00 | 080 ~ 858 100.00 | =ns | 000 ~ 858 2.09 10.59 Zzh st 1.00|5.00 ~ 1072 100.00 | #nS | 5.00 ~ 1326 | 2.09 10.59
100kN/MZ#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh sk ~
100kN/MZ#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/M%#B% % ~ 3ImEHAD ~ 100kN/m%#B %% ~ ImEEZD ~
Zzh st ~ zh s ~ Zzh st ~ zh sk ~
100kN/MZ#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zzh st ~ zh sk ~ Zzh st ~ zh sk ~
100kN/M%#B% % ~ 3ImEHAD ~ 100kN/m%Z#B %% ~ ImEEZD ~
Zh st ~ Zh sk ~ Zh st ~ Zh s ~
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